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Q1A * What is Industrial relation? E_xpl-ain scope and importance of it. OR 14
Q.1 A 1 Write a note on factors affecting to IR. 7
2 Explain the concept of negotiation and collective settlement, 7
Q.1 B Answer any four from following: 4

1 Define the term Industrial relation.

2 What is Collective settlement?

3 Explain”negotiation”.

4 Any two factors of IR?

5 Any two scope of IR.

6 Write meaning of discipline management.
Q.2 A Explain in detail technological changes and Industrial relation OR 1
Q.2A  Short note:] Evaluation of [R 7

2 Characteristics of IR 7

Q.2B  Answer any four from the following: 4

1 What is IR?

2 What is HRD?

3 Write any two characteristics of IR?

4 What do you mean by technological changes?

5 what do you mean by constitution in [R?

6 One difference between IR and HRD

Q.3 A  Whatis Trade Union? Explain features of Trade Union. OR 14
Q.3 A 1 Write a note on Functions of Trade Union 7

2 What is structure of Trade Union in India 7
Q.3B  Answer any three from the following: 3

1 Define the term” Trade Union”

2 what is the function of trade union?

3 What do you mean by trade union in India?

4 Any two features of trade union.

5 Any one example of trade union.
Q.4 A  What are the essentials for success of trade union? OR 14
Q4 A 1 Write short note “Problem of Trade Union” 7

2 Explain the methods of achieving objective of trade union, 7
Q4B  Answerany three: 3

1 What is Trade union?

2 Define the term “Trade union Movement”
3 What is trade union objective?

4 Any two essentials of trade union?

5 Give one example of trade union in India.
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